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Task A

The questions in red are shown on the video.
Question 1: There are 14 children at the park. There are 4 more
girls than boys. How many girls? How many boys?

Question 2: Lara and Raj have £18 in total. Lara has £6 more
than Raj. How much money do Lara and Raj have?

Question 3: | think of two numbers. The sum of my numbers is 20.
The difference between my numbers is 6.
What are my numbers?

Task B

The questions in red are shown on the video.
Question 1: There are 21 children at the party. There are 5 more
girls than boys. How many girls? How many boys?

Question 2: Dev and Holly have £70 in total. Dev has £20 more
than Holly. How much money do Dev and Holly have?

Question 3: | think of two numbers. The sum of my numbers is 200.
The difference between my numbers is 80.
What are my numbers?

Task C

The questions in red are shown on the video.
Question 1: There are 36 children at running club. There are 8 more
girls than boys. How many girls? How many boys?

Question 2: Chen and Megan have £100 in total. Chen has £30
more than Megan. How much money do Chen and Megan have?

Question 3: | think of two numbers. The sum of my numbersis 11.
The difference between my numbers is 4.
What are my numbers?

The answers are on the next page.
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Answers:
Task A: Q1: 9 girls 5boys Q2:Lara=£12Raj=£6 Q3:13 &7

Task B: Q1: 13 girls 8 boys Q2: Dev = £45 Holly = £25 Q3: 140 & 60
Task C: Q1:22 girls 14 boys Q2: Chen = £65 Megan =£35 Q3:3.5& 7.5
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